1 <?xml version="1.0" encoding="UTF-8" standalone="no" 7>
2 <ClinicalDocument xmlIns:xsi="http://www. w3. org/2001/XMLSchema-instance”
xsi:schemaLocation="urn:hl7-org:v3 .. /XSD/hc08 V08. xsd” xmIns="urn:hl7-org:v3™>
<typeld extension="POCD_HD000040” root="2.16.840.1.113883.1.3"/>
<id nullFlavor="NI"/>
<code code="10" codeSystem="1. 2. 392. 200119. 6. 10017 />
<effectiveTime value="20080418"/>
<confidentialityCode code="N"/>
<recordTarget>
<patientRole>
<id extension="00130101" root="1. 2. 392. 200119. 6. 10
<id extension="d 0 3" root="1. 2. 392. 200119 6. 2047 />
<id extension="3" root="1.2.392.200119. 6. 205" />
<?dgg>$iﬂl%ﬂ?ﬁﬂﬂlﬂz/\ﬁﬂ 1 TERS1 <> 3y 3< <postalCode>100-1001</postalCode>
</addr>
<patient>
<name> 7 X /N A </name>
<administrativeGenderCode code="1" codeSystem="1. 2. 392. 200119. 6. 1104"/>
<birthTime value="19500321"/>
</patient>
</patientRole>
</recordTarget>
22  <author>
23 <time value="20080418"/>
24 <assignedAuthor>

17/>
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25 <id nullFlavor="NI"/>

26 <representedOrganization>

27 <id extension="1310000301" root="1.2.392. 200119.6.102"/>

28 <name> 3 7 ') = 7 </name>

29 <telecom value="tel :0300000003"/>

(%(1) <?dgg>$iﬂl%ﬂ?’ftEElEE/\HiT 3 XML 2RI )L 3 fE<postal Code>100-0301</postal Code>
</addr>

32 </representedOrganization>

33 </assignedAuthor>
34  </author>
3b  <custodian>

36 <assignedCustodian>

37 <representedCustodianOrganization>
38 <id nul IFlavor="NI"/>

39 </representedCustodianOrganization>

40 </assignedCustodian>

41  </custodian>

4?2  <participant typeCode="HLD">

43 <functionCode code="1" codeSystem="1. 2. 392. 200119. 6. 208" />

44 <time>

45 <high value="20090331"/>

46 </time>

47 <associatedEntity classCode="IDENT™>

48 <id extension="08100000003" root="1. 2. 392. 200119. 6. 209. 1001301017 />
49 <scopingOrganization>

50 <id extension="00130101" root="1. 2. 392. 200119. 6. 1017 />

51 </scopingOrganization>

h?2 </associatedEntity>
b3  </participant>
54  <documentationOf>

bh <serviceEvent>

56 <code code="010" codeSystem="1. 2. 392. 200119. 6. 1002” displayName="4FEfE2"/>
57 <effectiveTime value="20080417"/>

58 <performer typeCode="PRF">

59 <assignedEntity>

60 <id nullFlavor="NI"/>

61 <representedOrganization>

62 <id extension="1310000301" root="1.2.392. 200119.6.102"/>
63 <name>&1E 1 5 1) = 7 </name>

64 <telecom value="tel :0300000003"/>

65 addr> ERHTREARKSHE 3 X M L 22210 £ )L 3 B

<postalCode>100-0301</postalCode>
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</addr>
</representedOrganization>
</assignedEntity>
</performer>
</serviceEvent>
</documentation0f>
<component>
<structuredBody>
<component>
<section>
<code code="01010" codeSystem="1. 2
displayName="#&#& - MZHER LI >
<text/>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N001000000000001” displayName="5&"/>
<value unit="cm” value="172. 77 xsi:type="PQ"/>
<interpretationCode code="N"/>
<referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT™>
<value xsi:type="IVL_PQ™>
<low unit="cm” value="100. 000" />
<high unit="cm” value="220. 000" />
</value>
</observationRange>
</referenceRange>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N006000000000001” displayName="{AE"/>
<value unit="kg” value="65.8" xsi:type="PQ"/>
<interpretationCode code="N"/>
<referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT™>
<value xsi:type="IVL_PQ™>
<low unit="kg” value="25.000"/>
<high unit="kg” value="150. 000" />
</value>
</observationRange>
</referenceRange>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N011000000000001” displayName="BMI"/>
<value unit="kg/m2” value="22.1" xsi:type="PQ"/>
<interpretationCode code="N"/>
<referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT™>
<value xsi:type="IVL_PQ™>
<low unit="kg/m2” value="18.500"/>
<high unit="kg/m2” value="24.900"/>
</value>
</observationRange>
</referenceRange>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N016160100000001” displayName="fEH (EA) ~/>
<value unit="cm” value="84.0" xsi:type="PQ"/>
<interpretationCode code="N"/>
<methodCode code="9N01610000"/>
<referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT™>
<value xsi:type="IVL_PQ™>
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<low unit="cm” value="40.000"/>
<high unit="cm” value="84. 000" />
</value>
</observationRange>
</referenceRange>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N056000000000011" displayName="BEx&E"/>
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2001” xsi :type="CD"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N056160400000049” displayName="E{Kpy 2 EEEE"/>
<value xsi:type="ST>& Y </value>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N061000000000011” displayName="8&MEIR"/>
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2001” xsi :type="CD"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N061160800000049” displayName="8BEMmEIRATRE"/>
<value xsi:type="ST>& Y </value>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N066000000000011" displayName="fEfEIR"/>
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2001” xsi :type="CD"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N066160800000049" displayName="#EpTR"/>
<value xsi:type="ST>& Y </value>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9A755000000000001” displayName="UX#EHA M E (F Dfth) />
<value unit="mm[Hg]” value="113" xsi:type="PQ"/>
<methodCode code="9A75500009"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9A765000000000001” displayName="¥L5EEAMM E (F D) " />
<value unit="mm[Hg]” value="73" xsi:type="PQ"/>
<methodCode code="9A76500009"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="3F015000002327101" displayName="th{#fgRsF (AU S )+ R) ~

<value unit="mg/dL” value="131" xsi:type="PQ"/>
<methodCode code="3F01510000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="3F070000002327101” displayName="HDLa L X5 O—JL"/>
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<value unit="mg/dL” value="b6" xsi:type="PQ"/>
<methodCode code="3F07010000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="3F077000002327101” displayName="LDLa L X5 O—JL"/>
<value unit="mg/dL” value="102" xsi:type="PQ"/>
<methodCode code="3F07710000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="3B035000002327201" displayName="GOT (AST)"/>
<value unit="U/L” value="31" xsi:type="PQ"/>
<methodCode code="3B03510000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="3B045000002327201" displayName="GPT (ALT)"/>
<value unit="U/L” value="38" xsi:type="PQ"/>
<methodCode code="3B04510000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="3B090000002327101” displayName="y -GT ( ¥y -GTP) " />
<value unit="U/L” value="71" xsi:type="PQ"/>
<methodCode code="3B09010000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="3D010000001926101" displayName="2ZCfgRs M ¥E"/>
<value unit="mg/dL” value="97" xsi:type="PQ"/>
<methodCode code="3D01010000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="3D045000001906202" displayName="HbA1c"/>
<value unit="%" value="4.7" xsi:type="PQ"/>
<methodCode code="3D04510000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="1A020000000191111" displayName="fR#E"/>
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2102” xsi :type="C0"/>
<methodCode code="1A02010000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="1A010000000191111” displayName="fRER"/>
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2102” xsi :type="C0"/>
<methodCode code="1A01010000"/>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N501000000000011” displayName="A KRR v o > RO—L¥E"/>
<value code="3" codeSystem="1. 2. 392. 200119. 6. 1008 xsi :type="CD"/>
</observation>
</entry>
<entry>
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<observation classCode="0BS” moodCode="EVN™>

<code code="9N506000000000011” displayName="{fEg&EL X)L />
<value code="3" codeSystem="1. 2. 392. 200119. 6. 3001” xsi:type="CD"/>

</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N511000000000049" displayName="ELT DLW (¥IE)"/>

<value xsi:type="ST >EIR7% L</value>
<author>
<time nulIFlavor="NI"/>
<assignedAuthor>
<id nullFlavor="NI"/>
<assignedPerson>
<name>fE=  KER</name>
</assignedPerson>
</assignedAuthor>
</author>
</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N701000000000011” displayName="ARE&1 (fnFE)"/>
<value code="2" codeSystem="1. 2. 392. 200119. 6. 2003” xsi :type="CD"/>

</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N706000000000011” displayName="PRE2 (Mm¥E) " />
<value code="2" codeSystem="1. 2. 392. 200119. 6. 2003” xsi :type="CD"/>

</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N711000000000011” displayName="pRE3 (BE&E)"/>
<value code="2" codeSystem="1. 2. 392. 200119. 6. 2003” xsi :type="CD"/>

</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N716000000000011” displayName="BE /&1 (XMME)"/>
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2003” xsi :type="CD"/>

</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N721000000000011” displayName="BE/E2 (L&) ”/>
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2003” xsi :type="CD"/>

</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N726000000000011” displayName="EXFFE3 (BRL - ALTBEH) />
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2003” xsi :type="CD"/>

</observation>
</entry>
<entry>
<observation classCode="0BS” moodCode="EVN™>

<code code="9N736000000000011” displayName="EZ{E" />
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2003” xsi :type="CD"/>

</observation>
</entry>
</section>
</component>
<component>
<section>

<code code="01990" codeSystem="1. 2. 392. 200119. 6. 1010” displayName="{FEEMNER"/>
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<text/>
<entry>
<observation classCode="0BS” moodCode="EVN™>
<code nul IFlavor="NA"/>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code code="9N206160700000011" displayName="Fg#B X #RHR & (— ik : Bz
(FTROHERE)"/> B o o
<value code="1" codeSystem="1. 2. 392. 200119. 6. 2002 xsi :type="CD"/>
<methodCode code="9N20610000"/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<%?g%%§99e:"9N206160800000049" displayName="Ha%}F X i@ & (— % EEEHE
R >
<value xsi:type="ST">IT w4 R#EEMEF</value>
<methodCode code="9N20610000"/>
</observation>
</entryRelationship>
</observation>
</entry>

</section>
</component>
</structuredBody>
</component>

357 </ClinicalDocument>
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